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1. What is the positive square root of 
7 +4../3? 

(a) ../3 - 1 

(b) ../3 + 1 

(c) ../3- 2 

(d) ../3 + 2 

2. If A = {1, 2}, B = {2, 3} and C = {3, 4}, 
then what is the cardinality of 
{A X B) r1 (A X C) ? 

(a) 8 

(b) 6 

(c) 2 

{d) 1 

3. If a, ~ are the roots of the equation 
x 2 + x + 2 = 0, then what is 

a 10 + ~10 

a-10 + ~-1o 

equal to? 

(a) 4096 

{b) 2048 

(c) 1024 

(d) 512 

4. If a and b are rational and b is not 
perfect square, then the quadratic 
equation with rational coefficients 
whose one root is 3a + Jb is 

(a) x 2 - 6ax + 9a2 - b = 0 

(b) 3ax2 + x-Jb = 0 

(c) x 2 + 3ax + ..Jb = 0 

(d) Jbx 2 + x- 3a = 0 

B-OEBB-M- NBS/47A 2 

5. If A is a finite set having n elements, 
then the number of relations which 
can be defined in A is 

(a) 2" 
L 

{d) n" 

6. If the positive integers a, b, c, d are 
in AP, then the numbers abc, abd, 
acd, bed are in 

(a} HP 

(b) AP 

(c) GP 

(d) None of the above 

7. Which one of the following is an 
example of non-empty set? 

{a) Set of all even prime numbers 

(b) (x : x 2 - 2 = 0 and x is rational) 

(c) {x: x is a natural number, 
x < 8 and simultaneously 
X> 12} 

(d) {x : x is a point common to any 
two parallel lines} 

8. What is one of the square roots of 
3+4i, where i =H? 

(a} 2 + i 

(b) 2- i 

{c) -2 + i 

(d) -3- i 
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1. 7 +4J3 Cf;l \R ~ ~ t? 
(a) ..J3- 1 

(b) J3 + 1 

(c) J3 -2 

{d) J3 +2 

2. ~ A = {1. 2}, B = {2. 3} .affi C = {~ 4} 

t, Ql (A X B} ll(A X C) em 7J'Il'R m ~ 
t? 
(a) 8 

{b) 6 

(c) 2 

(d) 1 

(a) 4096 

(b) 2048 

(c) 1024 

(d) 512 

4. ~ a~ b ~ ~ ~ b ~ cri ~ t, 
(I) ~ ~ ~ ~ f14)Cf){UI, 

~ u;Cfi l@ 3a + .J5 t, 'flll t? 
(a) x 2 - 6ax + 9a 2 - b = 0 

(b) 3ax 2 + X - .J5 = 0 

(c) x 2 + 3ax + ./b = 0 

(d) .J5x2 + x- 3a "" 0 

B-OEBB-M-NBS/47A 3 

5. ~ n ~ CfiT ~ ~ {1~4 At, m 
~cmm, ~A it~~~ 
~ t, Cfln t? 

(d) nn 

6. ~ a, b, c, d \R ~ AP if t m abc, 
abd, acd, bed~~ ~? 

(a) HP 

(b) AP 

(c) GP 

(d) ~~"ij~~ 

7. R""ifBf@a if ~ ~-m ~ 31ltffi t~~~ 
Cf;l 3~1~(111 t? 
(a) ~\ft "fTll' ~~ ~;sil Cfi1 ~ 

(b) (X : X 
2 - 2 = 0 aW X~ t) 

(c) {x : x ~ \R ~ t, x < 8 ~ 
~~X> 12} 

(d) {x : x fcn";tl Gl t!JlHR Wlm CfiT ~ 

~f.nd~r.~m 

8. 3 + 4i Cfil, ~ i = .J=l, u;Cfi wft@ 'flll t? 
(a) 2+ i 

(b) 2- i 

(c) -2 + i 

(d) - 3 - i 
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9. The number 83 is written in the 
binary system as 

{a) 100110 

(b) 101101 

(c) 1010011 

(d) 110110 

10. The relation R in the set Z of integers 
given by R = {(a. b) : a- b is divisible 
by 5) is 

(a) reflexive 

{b) reflexive but not symmetric 

(c) symmetric and transitive 

(d) an equivalence relation 

n 
11. What is L C(n, r) equal to? 

r =O 

(a) 2n - 1 

(b) n 

(c) n! 

12. What is 
equal to? 

(a} 1 

(b) 1·01 

(c) 1·001 

(d) 1·1 

0 ·9+ 0-09+ 0-009+··· 

B-OEBB-M-NBS/47A 4 

13. How many real roots does the 
quadratic equation 

f(x) = x 2 + 31xl+2 = 0 

have? 

(a) One 

(b) Two 

(c) Four 

(d) No real root 

14. In a group of 50 people, two tests 
were conducted, one for diabetes 
and one for blood pressure. 
30 people were diagnosed with 
diabetes and 40 people were 
diagnosed with high blood 
pressure. What is the minimum 
number of people who were having 
diabetes and high blood pressure? 

(a) 0 

(b) 10 

(c) 20 

(d) 30 

15. Consider the following statements : 

1. The product of two non-zero 
matrices can never be identity 
matrix. 

2. The product of two non-zero 
matrices can never be zero 
matrix. 

Which of the above statements 
is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

---·--·- ·- ·---
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9 . ~-~ ~ -q ~ 83 ~ ~ -q 
~~t? 

(a} 100110 

(b) 10 110 1 

(c) 101001 1 

(d) 110110 

10. ~ '* {l['i!Q Z -q R = {{a, b) : a- b, 

s"G~t}mt~ll1:Tl~ R~ 
t? 
(a) ~ 

(b) ~~wrltrn~ 

(c) wrltrn am ~StilstCfi 
(d) ~~ 

n 

11. L C{n, r)~~ t? 
r = O 

(a) 2n - 1 

{b) n 

(c) n l 

(d) 2" 

12. 0 · 9+0 · 09+0-009+· ·-~~t? 

{a) 1 

(b) 1·0 1 

{c) 1·001 

(d) 1·1 

B-OEBB-M- NBS/47A 5 

13. h {1J;ftCfl(OI f(x) = x 2 + 3lx I+ 2 = 0 t 
~ CltWfctifi "@' ~ ~? 

(a) 'Q',<fi 

(b) ~ 

(c) ~ 

(d) qiT{ CltW~Cfi lWf ~ 

14. so m '* 'Q',<fi ~ -q ~ trt~~ ~ tW, 
'Q',<fi ~ ~ ~ am: 'Q',<fi ~ ~ ~ 1 

3om -q ~-qnn 1M~ 4o m -q 
~~q-WJ~ ~ ~~ 3{R~ 

~m.~m~~~ ~ 
t? 

(a) 0 

(b) 10 

(c) 20 

(d) 30 

15. f48!Bf&a ~ lR ~ ~ : 

1. en ~ ~ CfiT !f'""N'a 'Cfl\'ft ~ 
driM*'~~-m~~ 

2. ~ ~ • ~ CfiT !!OH\flfl Cfi\fi \fi 
~~~mWf;Olt 

~ ~ ~ -e Cf>H-m/~ ~ t/~? 

(a} ~ 1 

(b) ~2 

(c) 1 3fR 2 c:r.t1 

fdJ ~ m 1 3fR ~ tft 2 
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16. Consider the following statements : 

1. The matrix 

is singular. 

2. The matrix 

is non-singular. 

Which of the above statements 
is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

17. The cofactor of the element 4 in the 
determinant 

is 

(a) 2 

(b) 4 

(c) 6 

(d) -6 

1 2 3 

4 5 6 

5 8 9 

B-OEBB-M-NBS/47A 6 

18. If A is a square matrix of order 3 with 
lA I *- 0, then which one of the 
following is correct? 

(a) ladjAI= IAI 

(b) jadjAI=IAI2 

(c) ladj AI=IA I3 

(d) ladjAI2 = IAI 

19. Let A = {a, b, <; d} and B = {X. y. .z}. 
What is the number of elements 
in Ax B? 

(a) 6 (b) 7 

(c) 12 (d) 64 

20. If C(28, 2r) = C{28, 2r- 4), then what 
is r equal to? 

(a) 7 

(b) 8 

(c) 12 

(d) 16 

21. If A is a subset of B, then which one 
of the following is correct? 

(d) Ac; A"B 
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16. f.ik'lfB[(ga <fi~ lR fcRm ~ : 

1. ~ 

(: f ~] 
310!!tiflJiuftq t I 

2. ~ 

(: E ~l 
O!!&iJiOfttt t I 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 GAl 

tdJ ~ m 1 ~ ~ tt 2 

(a) 2 

(b) 4 

(c) 6 

(d) -6 

1 2 3 
4 5 6 
5 8 9 

B-OEBB-M-NBS/47A 7 

18. ~ A -u;Cfi crl ~ Ch1fl 3 'fiT t mil ~ 
lA I~ o t, m f.lt=tR:!Rsa it~ <tA-m~ 
mft ~? 

(a) ladjAI=IAI 

(b) ladjAI=IAI2 

(c) ladjAI= IA I3 

(d) ladjAI2 =!AI 

19. ltR ~ A= {a, b, c, d} aft\ 
B = {x, Y, z} t, m Ax B .q ~ ~ 
-m~t? 

(a) 6 (b) 7 

(c) 12 (d) 64 

20. ~ · C(28, 2r) = C(28, 2r- 4) t a) r 
~il'mR ~? 

(a) 7 

(b) 8 

(c) 12 

(d) 16 

21. ~ B Cfi1 ~ Jq(<l~=ta:tl At, m f.lq~[(gtl 
.q~~-m~~t? · 

(d) A !i: A n B 

( P. T. 0. 
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22. If 

( 
i 0) (0 -1) (0 i) 

A = 0 -i ' B = 1 0 ' C = i 0 

2 3 . 

24. 

where i = R, then which one of the 
following is correct? 

(a) AB=-C 

(b) AB=C 

(c) A 2 = B 2 = C2 = I, where I is 
the identity matrix 

(d) BA'#C 

Let f be a function from the set of 
natural numbers to the set of even 
natural numbers given by f{x} = 2x. 
Then f is 

(a) one to one but not onto 

(b) onto but not one-one 

(c) both one-one and onto 

(d) neither one-one nor onto 

If 2A = (~ ~} then what is A-l 

equal to? 

(a) ( 2 -1) 
-3 2 

(b) 1( 2 
2 -3 -~) 

(c) 1( 2 
4 -3 -~) 

(d) None of the above 

~EBB-M-NBS/47A 8 

25. If 

( 2 3) X ( 5 -2) = ( 1 -1) 
4 1 -3 1 17 }.. 

then what is A. equal to? 

(a) 7 (b) -7 

(c) 9 (d) -9 

26. What is the angle (in circular 
measure) between the hour hand 
and the minute hand of a clock 
when the time is half past 4 ? 

7t 
(a) 3 

(b) 1t 
4 

(c) 7t 
6 

(d) None of the above 

27. The angles of elevation of the top of a 
tower from two places situated at 
distances 21 m and x m from the 
base of the tower are 45° and 60° 
respectively. What is the value of x? 

(a) 7-/3 

(b) 7--13 

(c) 7 + ../3 

(d) 14 
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22. ~ 

(
i 0) (0 -1 ) (0 i) 

A = 0 -i ' B .. 1 0 ' C = i 0 

t ~ i = ../-f, m R'""lfftf@a ll ~ 
~-m~~t? 

(a) AB = -c 

(b) AB = C 

(c) A 2 = B 2 = C2 =I, ~ I <'lffitfcti 

~t 

(d) BA-t C 

23. 1l"R ~ ~ \H ~ ~~tl ~ ltlf tH 

~ ~!.f'i4ll .q ~ ~ f t, ~ 
/(x) = 2x W\1 ~ 'l'1<ll t I tft f qm t? 
(a) ~ ~ 311~i<:q; ;rtf 

(b) ~I~I<:Cfi ~ ~ ~ 

(c) ~ am ~I~IC:ifi ~ 
(d) ";f m ~ affi =t ~ ~ I~I<:Cfl 

24. ~ 2A = ( ~ ~) t, m A -l ~ GK1CR 

t? 

(a) ( -~ -~) 

(b) 1( 2 2 -3 -~) 

(c) 1( 2 
4 -3 -~) 

(d) ~.qt)~~ 

B-OEBB-M-NBS/47A 9 

25. ~ 

( 2 3) x ( 5 -2) = ( 1 -1) 
4 1 -3 1 17 ').. 

~) 7 (b) - 7 

(c) 9 {d) -9 

26. ~ ~ ll, ~ ~ ~ 4 "CflT t, ~ ~ 
~ 31R ffRz e#il mm t ~ "CflT 7.fifar 
(~ JijtJ it) 'ffi t? 

(a) 1t 
3 

(b) 7t 
4 

(c) n 
6 

27. Q,Cfi lft.m t mw t, ~ 31Ttm ~ 21 ~ 

3ffi: X ~ cfit ~ -q"{ ~ <:) ~ lt, 
'3w:R 'CfiTuJ Sfilro: 45 o 3'-ffi 60" ~ I X "CflT 

lJR ~t? 

(a) 7../3 

(b) 7- .J3 

(c) 7 + ../3 

(d) 14 

[ P. T. 0. 
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28. What is cots4
o + tan2 0' equal to? 

tan 36° cot 70' 

(a) 0 

{b) 1 

{c) 2 

(d) 3 

29. A person standing on the bank of 
a river observes that the angle 
subtended by a tree on the opposite 
of bank is 60°. When he retires 
40 m from the bank, he finds the 
angle to be 30° . What is the breadth 
of the river? 

{a) 60 m 

(b) 40 m 

{c) 30 m 

(d) 20 m 

30. If the angles of a triangle are 30° and 
45° and the included side is (.J3 + 1}, 
then what is the area of the 
triangle? 

.J3 + 1 {a) 
2 

(b) 2 (.J3 + 1) 

J3 + 1 
(c) 3 

J3 -1 
(d) 

2 

B~EBB-M-NBS/47A 10 

31. What is sin 2 20' +sin 2 70' equal 

to? 

(a) 1 

(b) 0 

{c) -1 

{d) 1 
2 

32. What is the value of the determinant 

{a) 0 

1 be a(b+ q 
1 ca b(c+ a) ? 

1 ab c(a+ b) 

{b) abc 

{c) ab + be + ca 

(d) abc{a + b + q 

33. Consider the following : 

L A v{Bf\C) = (A f\B) u(A (')C) 

2. A (')(BvC) = (Au B) n(A u C) 

Which of the above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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(a) 0 

(b) 1 

(c) 2 

(d) 3 

29. ~ ~ (fG "tf\ ~ q;)-f ~ ~ ~~ ~ 
t fcf; (fl "* ~ fcf;;rit "tf\ ~ ill\1' 1m 
~ CfiTuT 60° t I \iiGI' ~ ~ (lG ~ 
40 'lfto ..fuJ ~ ~ t, ffl ~ ~ ~ ~ 
~ 30° (fif tl ~ c#it ~~ t? 
(a) 60 lfto 

(b) 40 lfto 

(c) 30 lfto 

(d) 20 lfto 

... 

3o. ~ ~ ~ t ~ 3oo am 45° t ~ 
~ ~ 'Ffl <.J3 + t) t. m ~ (fif 

~~t? 

(a) .J3 + 1 
2 

(b) 2 (.J3 + 1) 

.J3 + 1 (c) 
3 

../3 -1 
(d) 2 

B~EB~-M-NBS/47A 11 

(a) 1 

(b) 0 

. (c) -1 

(d) 1 
2 

1 be a(b +q 
1 ca b(c+ a) 

1 ab c(a+ b) 

(b) abc 

(c) ab +be+ ca 

(d) abc(a+ b + q 

33. f.)qffifTsid tR ~ ~ : 

1. Au (B n C) = (A t1 B) u (A t1 C) 

2. A t~{BuC) =(Au B) t1{A uC) 

~ ~ ~ ~-mt~ ~ t/~? 

(a) ~ l 

(b) ~2 

(c) 1 3tR 2 <:);it 

tdJ ':{ m 1 JtR ':{ 1ft 2 

IP.T. 0. 
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34. Let n be a positive integer and 1 

(1 + x)" = a0 + a1 x + a2 x 2 +··-+an x" 

What is a0 + a 1 + a2 +···+an equal 
to? 

(a) 1 

(b) 2" 

(c) 2n - l 

(d) 2" +l 

35. If C£, ~ are the roots of the equation 

ax2 + bx + b = 0, then what is the 

value of N +J! +~? 
(a) -l 

(b) 0 

(c) 1 

(d) 2 

36. A number in binary system is 
11000 1. It is equal to which one of 
the following numbers in decimal 
system? 

(a) 45 

(b) 46 

(c) 48 

(d) 49 

37. The roots of the equation 

x 2
- Bx+ 16 = 0 

(a) are imaginary 

(b) are distinct and real 

(c) are equal and real 

(d) cannot be ascertained 

B-OEBB-M-NBS/47A 12 

38. What is tan- 1(~)+tan- 1(!) equal 

to? 

n 
(a) 2 

(c) n 
4 

n 
(b) 3 

1t 
(d) 6 

39. What is (1 -sin 2 9)(1 + tan 2 9} equal 

to? 

(a) sin2 9 

(b) cos2 9 

(c) tan2 e 

(d) 1 

40. How many terms are there in the 
expansion of (1 + 2x + x 2 )10 ? 

(a) 11 

(c) 21 

(b) 20 

(d) 30 

41. The sum of the first five terms and 
the sum of the first ten terms of 
an AP are same. Which one of 
the following is the correct 
statement? 

(a) The first term must be negative 

(b) The common difference must 
be negative 

(c) Eithe.r the first term or the 
common difference is negative 
but not both 

(d) Both the first term and the 
common difference are negative 
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34 . . lfR ~ ~ n 'C% ~ ~ t ~ 
n 2 n (l.+x) =a0 +a1x+a2 x +···+anx 

t1 a0 +a1 +a2 +···+a11 ~ ~ 
t? 
(a) 1 

(b) 21\ 

(c) 2" -l 

(d) 211 +l 

35. ~ E141Cfi(OI ax2 + bx + b = 0 ~ l@ a , ~ 

t m ~ + ~ + l ~ lfR cpn t ? 

(a) -1 

(b) 0 

(c) 1 

(d) 2 

36. ~-3llm(l ~ i\ ~ ~ 110001 tl 

G:tl'i~C\ ~ i\ ~ ~ f.ls:tfl1R9a .i\ ~ 
~ ~ ~ il\1iR t? 
{a) 45 

(b) 46 

(c) 48 

(d) 49 

37. t14'1Cfi(UI x 2 - Bx + 16 = 0 ~ ~ 

(a)~~ 

(b) ~ ~ C41f<flilcti ~ 

(c) ~ 3ft< cuf<ffilCfi ~ 

(d) ~~~~'if(~ 

B-OEBB-M-NBS/47A 13 

38. tan- 1 (~) + tan- 1 (~) ~ ~ t? 

(a) 
7t 

{b) 
7t - -

2 3 

{c) 
1t 

(d) 
7t - -

4 6 

39. (1-sin2 9)(1 + tan 2 9) ~ ~ t? 

(a) sin2 e 

(c) tan2 9 

(d) 1 

(a) 11 (b) 20 

(c) 21 (d) 30 

41. v;Cfi AP ~ ~~ qf.q ~ ~ m1 1'h~ ~ 
~ ~ ~ tf>l ~'l'h~ ~ tl 
f.h"'1~fti(1 i\ ~ m-m 'C% ~ ~ t? 

(a} ~ ~ 'flUfkliCfi m:n ~ 
(b) liT<f 3Rf\ ifl:Ui[('q Cf) m:n ~ 
(c) iff m ~ 1l<: 3{'ilqJ ~ 3MR 

'ftOJkt{Cfi t ~ <:t.f1 ~ 

(d) ~ q'G ~ mcf 31r<f{ cft::il ;;rru II f'iCfi 

~ 

[ P. T. 0 . 
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42. If A = {1, 3, 5, 7}, then what is the 46. What is the seventh term of the 

cardinality of the power set P{A) ? sequence Q 3, 8, 15, 24, · · ·? 

(a) 8 
(a) 63 

(b) 48 
(b) 15 (c) 35 

(c) 16 (d) 33 

(d) 17 
47. What is tan 15° equal to? 

(a} 2 - ../3 
43. What is t he difference in the roots of 

2+../3 
the equat ion x 2 - lOx+ 9 = 0 ? 

(b) 

(c) 1- .J3 
(a) 2 (d) 1+../3 

(b) 3 
48. Consider the following : 

(c) 5 
tan(~) 1. 

(d) 8 

2. tan(~n) 
44. If 8x - 9y = 20 and 7x- 10y = 9, 

then what is 2x - y equal to? 3 . tan( ~n) 
(a) 10 

tan(
2
;) 4 . 

(b) 11 

What is the correct order? 
(c) 12 

{a) 1 <4<2 < 3 
(d) 13 (b) 4<2 < 1<3 

(c) 4 <2<3< 1 
45. The quadratic equation (d) 1<4<3 < 2 

x 2 + bx+ 4 = 0 

will have real roots if 49. If cos x = ..!., then what is 
3 

(a) b S - 4 only s in x · cot x · cosecx · tan x 

(b) b ~ 4 only equal to? 

(a} 
2 

(b) 
3 

(c) -4<b<4 3 2 

(d) b s; - 4 , b ~ 4 (c) 2 (d) 1 

B-OEBB-M-~BS/47A 14 
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42. ~ A = {~ 3, 5, 7} t, m 'Effif B~~ P(A) 

~TfO'R~~ t? 

(a) 8 

{b) 15 

(c) 16 

(d) 17 

43. wftCfi(OI x 2 - lOx+ 9 = 0 t 1@1 enr 3'1r(R 

~t? 

(a) 2 

(b) 3 

(c) 5 

(d) 8 

44. ~ 8x- 9y= 20 am 7x -lOy .. 9 t, m 
2x-y~~t? 

(a) 10 

(b) 11 

(c) 12 

(d) 13 

45. ~ *!tftCfl(OJ x 2 +bx+4=0 ~ 1@" 

<m=<tfctcti ~, ~ 

(a) ~ b $-4 

(b) ~ b ~4 

(c) -4 < b < 4 

(d) b $ -4, b ~ 4 

~OEBB-M-NBS/47A 15 

46. ~ 0, 3, 8, 15, 24, ... 'Cf)1 ~ tR ~ 

t? 
(a} 63 

(b) 48 

(c) 35 

(d) 33 

47. tan15° ~ iRm t? 
(a} 2-./3 
(b) 2 + ./3 
(c) 1- .f3 
(d) 1 + ..[3 

48. f.\Riflf{gd 1:R q ~ : 

1. tan(~) 

2. tan(~n) 

3. tan (~) 
4. tan(';) 
~ Sfi1l ~ t? 
(a} 1 < 4 < 2 < 3 

(b) 4 < 2 < 1 < 3 

(c) 4 < 2 < 3 < 1 

(d) 1 < 4 < 3 < 2 

49. ~cosx=.!.t m 
3 ' 

sin x · cot x · cosecx · tan x 

~iRmt? 

(a) ~ 
(c) 2 

(b) 3 
2 

(d) 1 

( P. T. 0. 
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SO. What is log 81 243 equal to? 

(a) 0·75 

(b) 1·25 

(c) 1· 5 

(d) 3 

51. If the three vertices of the 
parallelogram ABCD are A {1. a), 

B(3, a), C(2, b), then D is equal to 

(a) (3, b) 

(b) (6, b) 

(c) (4, b) 

(d) (5, b) 

52. The value of k for which the lines 
2x + 3y + a = 0 and Sx + ky + a = 0 
represent family of parallel lines is 

(a) 3 

(b) 4 ·5 

(c) 1· 5 

(d) 15 

53. What is the equation of the line 
which passes through {4, - 5) and is 
perpendicular to 3x + 4y + 5 = 0? 

(a) 4x- 3y- 31 = 0 

(b) 3x - 4y - 41 = 0 

(c) 4 x + 3 y - 1 = 0 

(d) 3x + 4 y + 8 = 0 

B~EBB-M-NBS/47A 16 

54. The foci of the hyperbola 

4x2 - 9y2 -1 = 0 

55. 

are 

(a} (± Jf3, 0) 

(b) ( ± ~· 0) 

(d) None of the above 

For what value 
straight lines 
4x + 3y+2k = 0 
the point {1, 1)? 

(a) 1 
2 

(b) 2 

(c) -2 

(d) 1 

2 

of k are the two 
3x+4y= 1 and 

equidistant from 

56. A : point P moves such that its 
qistances from (l, 2) and (-2, 3} are . . , 
equal. Then the locus of P is 

(a) straight line 

(b) parabola 

(c) ellipse 

(d) hyperbola 
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50. log 81 243 ~ ~ t? 
(a) 0 ·75 

(b) 1·25 

(c) 1· 5 

(d) 3 

51. ~ ~ ~ ABCD t ({A ~ 
A(l, a), 8(3, a), C(2, b) t, m D ~ 
iR1'<i(\ ~ ~? 

(a) (3, b) 

{b) (6, b) 

(c) (4, b) 

(d) (S. b) 

52. ~ ~'311(, 2x + 3y+a = 0 am 
5x + ky +a= 0, k ~ ~ lfR t ~ 
'Q'lfRl\ ~:m ~ ~ ctit f.l~fQa ~ ~? 

(a) · 3 

(b) 4 ·5 

(c) 7 -5 

(d) 15 

53. '3{1 oo ~. 'if) (4,- 5) ~ ~ ~ am 
3x + 4 y + 5 :::: o 1:R ~ t, ecftq;<ol ~ 
t? 
{a) 4x-3y-3I=O 

(b) 3x - 4 y - 41 = 0 

(c) 4x+3y-1=0 

(d) 3x + 4 y + 8 = 0 

B-OEBB-M-NBS/47A 17 

54 . .iJ'1Rt4<<k1ll 4x2 - 9y2 - 1 = 0 ~ ~ 

CM~? 

(a) (± .../13, 0) 

ss. k t ~ lWof ~ f8t1: en ~ ~ 
3x + 4 y = 1 am 4x + 3 y + 2k = 0, ~ 
(], 1) ~ ~ ~ 1:R ~? 

(a) 1 
2 

(b) 2 

(c) -2 

1 
(d) --

2 

56. ~ ~ p~ )l'ifi'R ~ t ~ ~ (1, 2) 

am <-4 3) 'Q ~ ~ ~ ~ 1 P cti1 

r.~4Y.I <fln t? 

(a) ~'tm 

(b) q(q~(j 

(c)~ 
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57. The equation of the locus of a point 
which is equidistant from the 
axes is 

(a) y = 2x 

{b) X = 2y 

{c) y = ±x 

(d) 2y+ X= 0 

58. What angle does the line segment 
joining (5, 2) and (6, - 15) subtend 
at (Q 0)? 

(a) n 
6 

1t 
(b) 4 

(c) n 
2 

(d) 3n 
4 

59. The length of latus rectum of the 
ellipse 4x2 + 9y2 = 36 is 

(a) 4 
3 

(b) 8 
3 

(c) 6 

(d) 12 

60. What is the equation to the 
straight line passing through (5, - 2) 
and (-4, 7)? 

(a) 5x-2y= 4 

(b) -4x + 1y = 9 

{c) x + y= 3 

(d) X- y = -1 

B-OEBB-M- NBS/47A 18 

61. What is the angle between the lines 
x + y = 1 and x - y = 1 ? 

1t 
(a) 6 

{b) : 

7t 
{c) 3 

n 
(d) 2 

62. The axis of the parabola y2 + 2x = 0 

is 

{a) x = 0 

(b) y = 0 

(c) x = 2 

(d) y = 2 

63. The radius of the circle 

x 2 + y2 +X+C= 0 

pass ing through the origin is 

(a} 1 
4 

1 
(b) -

2 

(c) 1 

{d) 2 

64. The centroid of the triangle with 
vertices (2. 3}, (-2. - 5) and (3, 5) is at 

{a) (1, 1) 

(b) (2, - 1) 

{c) {l, - 1) 

{d) (1, 2) 
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57. 3l~ "() W1R ~ 1:11: ~ qffi ~ ~ Rl-sq~ 
CfiT (iq}Cfi(UI (f<fl ~? 

(a} Y = '2x 

(b) X =2y 

{c) y = ±x 

{d) 2y+ X= 0 

ss. ~:m ~~ 21 ~ (6. - 15) 'Cf11 ~ cmn 
~-~ (0, 0) 'R ~ 'Cf11ur ~ 
Cfim t? 
(a) 1t 

6 

(b) 1t 
4 

(c) n 
2 

(d) 3n 
4 

59. ~ 4x 2 + 9y2 = 36 ~ ~ ~ 

~~~? 

(a) 4 
3 

(b) 8 
3 

(c) 6 

(d) 12 

60. {5, -21 ~ (- 4, 7) B ~ ~ ~ 'DID 
CfiT 6 ;:ft Cfl(U I 'fln ~ ? 

(a} 5x - 2y= 4 

(b) -4x + 7y = 9 

(c) x+y =3 

(d) X- y = - 1 

B~EBB-M-NBS/47A 19 

61. X+ y = 1 3fR X- y = 1 ~.m ~ ~ ~ 
'Cf11ui ~ ~? 

(a} 7t 
6 

(b) 1t 
4 

(c) 1t 
3 

(d) 1t 

2 

{a) x=O 

(b) y=O 

(c) x =2 

(d) y=2 

63. '(t1~~ ~ ~ ~ Vi 
x 2 + y2 + x + c = 0 <til M ~ t? 

(a) 1 
4 

(b) 1 
2 

(c) . 1 

(d) 2 

64. ~ {2, 3}, (- 2, - 5) 3ft\ (3, 5) qffi ~ 
qiT ~~ 1:11:~7 

{a) (1, 1) 

(b) (2, - 1) 

{c) (1, - 1) 

(d) (1, 2) 
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65. The equation of the line, the 
reciprocals of whose intercepts on 
the axes are m a nd n, is given by 

{a) nx + my = mn 

(b) mx + ny= 1 

(c) mx + ny = mn 

(d) mx - ny = 1 

66. If 9 is the acute angle between the 
diagonals of a cube, then which one 
of the following is correct? 

(a} e = 300 

(b) 9 = 45° 

(c) 2cos9 = 1 

(d) 3cose = 1 

67. Wha t is the equation of the sphere 
wi th unit radius having centre at 
the origin? 

(a) x 2 + y 2 + 2 
2 = 0 

(b) x 2 + y 2 + 2 2 = 1 

(c) x 2 +y2 +22 =2 

(d) X 2 + y 2 + Z 
2 = 3 

68. What is the sum of the squares of 
direction cosines of x-axis? 

(a) 0 (b) 1 
3 

(c) 1 (d) 3 

69. What is the distance of the line 
2x + y + 2z = 3 from the origin? 

(a) 1 unit 

(b) 1·5 units 

(c) 2 units 

(d) 2·5 units 

B-OEBB-M- NBS/47A 20 

70. Jf the projections of a straight line 
segment on the coordinate axes are 
2, 3, 6, then the length of the 
segment is 

(a} 5 units 

(b) 7 units 

(c) 11 u nits 

(d) 49 u nits 

71. Consider the following functions : 

1. f (x) = ex, where x > 0 

2. g(x)=jx-31 

Which of the above functions is/are 
continuous? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

72. What is the derivative of x 3 with 

respect to x 2 ? 

(a) 3x2 

(b) 3x 
2 

(c) x 

(d) 3 
2 
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65. ~ 'WI Cfil, ~ :s:r~ -q1; 3Ml:~ ~ 
~ m ~ n ~, fiq)<:fi(UI <Ffl ~? 

(a} nx+my= mn 

(b) mx+ ny= 1 

{c) mx+ny= mn 

(d) mx- ny= 1 

66. ~~tR~~~~~~et, 
m l4J::i!Br&a it -8 ~ -m 1% -mfi t? 
(a} 9 = 300 

(b) 9 = 45° 

(c) 2cos9 = 1 

(d) 3cos9 = 1 

67. 'l~f4~ 1:{'1; ~ am ~ ~ en-a ~ Cli1 

tla:ft<:fl(OJ cp;n t? 
(a) x2 + y2 + z2 = 0 

(b) x2 + y2 +z2 = 1 

(c) x2 + y2+z2=2 

(d) x2 +y2 +z2 = 3 

68. x-31~ <#a ~-~ail ~ crrTI Cfi1 ~ ~ 
~7 

(a) 0 

(c) 1 

(b) 1 
3 

(d) 3 

69. 'l~~"$ ~ ~ 2x + y+2z = 3 cfa ~ ~ 
t? 
(a) l~ 

(b) 1·5~ 

(c) 2~ 

{d) 2·5 ~ 

B-OEBB-M-NBS/47A 21 

10. ~ f.t~~~<:fl :s:ran qt: mB nm -~ ~ 'S{a}q 

2, 3, 6 t m &T-~ <#a ~Cfql t? 

(a) 5~ 

(b) 7~ 

(c) .11 ~ 

(d) 49~ 

11. Rh1~R9a ~-en:~~ : 

1. f (x) = ex, ~ x > 0 

2. g(x) = lx - 31 

{a) m 1 

fbJ mz 
(c) 1 am 2 ~ 

fdJ ~ m 1 ~ ~ -g\ 2 

(a) 3x 2 

(b) 3x 
2 

(c) x 

(d) 3 
2 

[P.T. 0 . 
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73. What is lim 2
3
- x equal to? 

x~ 2x - 8 

(a) 1 
8 

(b) 
1 
8 

(c) 
1 

12 

{d) 1 

12 

74. A function f : IR -7 IR is defined as 
f(x) = x 2 for x ~ 0 and f(x) = -x 

for x < 0. 

Consider the following statements 
in respect of the above function : 

1. The function is continuous 
at x = 0. 

2. The function is differentiable 
at x = 0. 

Which of the above statements 
is I are correct? 

(a) 1 only 

{b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

75. If f(x) = 2x2 + 3x- 5, then what is 

f'(O) + 3/ '(-1) equal to? 

(a) -l 

(b) 0 

(c) 1 

(d) 2 

B-OEBB~M-NBS/47A 22 

76 Wh . 1. 1-cosx 
1 

? 
. at 1s 1m equa to. 

(a) 0 

(b) 1 
2 

(c) 1 

{d) 2 

x~O X 

77 Wh . I' cos X l ? . at 1s 1m -- equa to 

(a) 0 

(b) 1t 

(c) 
1 

1t 

(d) 1 

-l'~01t - X 

78 Wh t . 1. sin2x+4x a1 t? • a ts 1m equ o. 
x--+0 2x + sin4x 

(a) 0 

(b) 1 
2 

(c) 1 

(d) 2 

79. The maximum value of the function 
f(x) = x 3 + 2x2 - 4x + 6 exists at 

(a) x = -2 

(b) X= 1 

(c) x = 2 

(d) X= - 1 
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73. lim 
2-x ~ ii'UiR t? 

x-+2x 3 - 8 

(a) 
1 -
8 

(b) 
1 --
8 

(c) 
1 -

12 

(d) 
1 

12 

74. ~ f: lR -?lR ~~'tift~ t ~· 

f{x) = x 2 
1 X~ 0 ~ ~ afR f(x) =-X, 

x<O~~I 

~ ~ t 1fR .q f.1"'1~f&d ~ 'q\ 

~~: 

1. x=O'q\~~tl 

2. X= 0~ ~ 3i<:4Cflctoft4 tt 
~ ~ .q -Q ~-mj-Q ml t;~? 

(a) ~ 1 

(b) ~2 

(c) 1 ~2~ 

fdJ -:t m 1 ~ ';f tt 2 

75. ~ f(x} = 2x 2 + 3x - 5 t 
f'(O) + 3/'(- 1) ~ ~ t? 
(a} -1 

(b) 0 

(c) 1 

(d) 2 

B~EB~M-NBS/47A 23 

76. lim 1- cosx ~ ii'UiR t? 
x-+0 X 

(a} 0 

(b) 1 
2 

(c) 1 

(d) 2 

77. lim ~ ~ i£00 t? 
x-+0 1t- X 

(a} 0 

(b) 1t 

(c) l 
1t 

(d) 1 

lim sin2x + 4x ~ ~ ~? 78. . 
x-+0 2x +sm4x 

(a) 0 

(b) 1 
2 

(c) 1 

(d) 2 

79. ~ f (x)=x3 +2x2 -4x+6 t 
~ m:J <fiT ~ ~ -qt t? 
(a) X= -2 

(b) x= l 

(c) X =2 

(d) X= - 1 

! P. T. 0. 
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80. The minimum value of the function 84. y = 2cosx + 3sinx satisfies which of 
f(x) =lx -41 exists at the following differential equations? 

(a) x=O (b) x=2 d2 
1. _J_+y=O 

d.x2 
(c) x=4 (d) X= -4 

'2. (~r +~ =0 
What is L2 

In x d.x equal to? 81. 
Select the correct answer using the 

(a) ln 2 code given below. 

(b) 1 (a) 1 only 

(c) ln(:) 
(b) 2 only 

(c) Both 1 and 2 

(d) ln(:) (d) Neither 1 nor 2 

What is J dx equal to? 
85. The differential equation of all circles 

82. whose centres are at the origin is 
~4 +x2 

ln~~4+x2 +xj+c 
(a) dy = y 

(a) d.x X 

ln,~4+x2 -x l+c 
(b) dy =~ 

(b) d.x y 

sin-
1 
(;)+ c 

{c) 
dy X 

{c) -= --
dx y 

{d) None of the above (d) None of the above 

where c is an arbitrary constant. J sin 2 x d.x + J cos 2 x dx 86. What is 

83. What is the order of the differential equal to? 
equation (a) x+c 

(d r d d:c + }; - sin 2 y = 0 ? 
(b) 

x2 
-+c 
2 

(a) 1 

(b) 2 
(c) x 2 +c 

(c) 3 (d) None of the above 

(d) Undefined where c is an arbitrary constant. 

B-OEBB- M-NBS/47A 24 
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80. 1:f)ff.{ f(x} =lx-41 ~ ~ lfR <liT 

~~l:R~? 

82. 

(a) x = 0 

(c) x == 4 

(a) ln2 

(b) 1 

(c) In(:) 

(d) ln(:) 

(b) X= 2 

(d) X= -4 

J dx 
~4 +x2 
~ 'Gf{1'ii"{ t? 

(a) ln ~ ~4+x2 
+xl+c 

(b) ln~~4+x2 -x\+c 

{c) sin-1 (~) + c 

(d) ~ -q ~ ~ -;ffli 

~c~~a:rmt1 

(
d )2 d i:c + ;:c -sin 2 y = 0 

~ q;)ft ~ t? 
(a} 1 

(b) 2 

(c) 3 

(d) 3Mm 

~EBB-M-NBS/47A 25 

84. y = 2cos x + 3sin x, f.I"'""R1fiila ~ 
BtftCfl(Ufl -ij ~ ~ ~ 'Cf)"((f] ~? 

d2y 
1. - +y=O 

dx2 

2. (~r + ~ =0 

~~~~Cfi(~'Cf){~~ 

~I 

{a) ~ 1 

(b) ~2 

( c} 1 3ft"< 2 <:t-it 

(dJ ";{ m 1 ~ ~ tt 2 

85. ~ tl'ft <rft Cfil ~ (04 4)Cf)(UJ, ~ ~ 
'1.('1[41 l:R ~~ <lln t? 

dy y 
(a) - =-

dx X 

(b) 
dy X 
-=-
dx y 

(c) 
dy X 
-=--
dx y 

(d) ~-ij~~~ 

86. J sin 2 xdx+ Jcos2 xdx~~ t? 

{a) X +C 

x2 
(b) -+c 

2 

(d) ~ lt ~ ~ 1'tf 

~ c'{fcfi~ ~ t1 

[ P .. T. 0. 
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87. What is J e e" exdx. equal to? 

" (c) ee ex +c 

where c is an arbitrary constant. 

88. What is the area bounded by the 
lines x = 0, y = 0 and x + y + 2 "" 0 ? 

(a) .! square unit 
2 

(b) 1 square unit 

(c) 2 square units 

(d) 4 square units 

89. What is the derivative of sin(sinx)? 

(a) cos(cosx) 

(b) cos(sinx) 

{c) cos( sin x)cosx 

(d) cos(cos x}cos x 

90. What is the derivative of lx -11 
at x = 2? 

(a) -1 

(b) 0 

(c) 1 

(d) Derivative does not exis t 

~EBB-M-NBS/47A 26 

91. What is the a rea of the parabola 
x 2 = y bounded by the line y = 1? 

(a} .!. square unit 
3 

(b) 
2 

square unit 
3 

(c) 
4 

square units 
3 

(d) 2 square units 

92. What is the area bounded by 
n y = tan x, y = 0 and x = - ? 

(a) ln 2 square units 

In 2 
(b) - square units 

2 

(c) 2 (In 2) square units 

(d) None of the above 

4 

93. What is J (xcosx +sinx)dx. equal 

to? 

(a) xsinx +c 

(b) xcosx + c 

(c) -xsinx + c 

(d) -xcosx + c 

where c is an arbitrary constant. 

94. What is J ~ e 1n x dx equal to? 

(a) 1 

(b) 2 

(c) 4 

(d) None of the above 
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87. J ee/(exdx~~ ~? 91. ~ y = 1 &ro ~ W:Ccl~ x2 = Y ~ 

~~~? 
Jt 

(o.} ee +c 
.!.-eM~ (o.} 
3 

(b) 2eex + c 
2-cM~ (b) 

Jl. 
3 

(c) ee ex +c 
(c) ~eM~ 

(d) 2eex ex+ c 3 

(d) 2cM~ 
~c~~3m~l 

92. y= tanx, y= 0 3ffi x=~ WU ~ 
88. X = 0, y = 0 3:fR X+ y + 2 = 0 too~ {Rl 

4 

~~~~? 
~~~? 

(o.) .!. crf ~ 
(o.) ln2cM~ 

2 (b) ln2wf~ 
2 

1 crf~ (b) 
(c) 2 {In 2} eM l'1iTf 

(c) 2<Pf~ 
(d) ~it~q;)f~ 

(d) 4<flf~ 

93. J (xcosx +sin x) dx ~ iR1'GR t? 

89. sin (sin x) 'fll a:t4Cfli:ONI ~ t? (o.) xsinx + c 

(o.) cos(cosx) (b) xcosx+c 

(b) cos{sinx) (c) -xsinx+c 

(c) cos(sin x)cos x (d) -xcosx +c 

(d) cos(cos x)cos x ~c~~~~l 

90. lx- ll 'fiT ~Cllfi€1'51, x = 2 tR ~ tt 94. J: e lnxdx ~ iR1'GR ~? 

(o.) - 1 (o.) 1 

(b) 0 (b) 2 

(c) 1 (c) 4 

(d) 3iC4Cflcl<il 'fll ~ -;nff t (d) ~it~~~ 
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95. If the angle between the vectors 

i - m] and ] + k is ~. then what is 
3 

the value of m? 

{a) 0 

{b) 2 

(c) -2 

(d) None of the above 

96. What is the vector perpendicular to 
both the vectors i - ] and l? 

(a) i 
'I 

(b) - ) 

(c) j 

(d) k 

97. The position vectors of the points 
A and Bare respectively 3[ - 5] + 2k 
and i + ] - k. What is the length 

of AB? 

(a) 11 

{b) 9 

(c) 7 

(d) 6 

98. The vectors i -2x]- 3yk and 

i + 3x] + 2yk are orthogonal to each 

other. Then the locus of the point 
(x, Yl is 

(a) hyperbola 

(b) ellipse 

(c) parabola 

(d) circle 
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99. What is the value of p for which the 
vector p{2l-] + 2k) is of 3 units 

length? 

(a) 1 

(b) 2 

(c) 3 

(d) 6 

100. u a = 2l + 2] + 3k, "b ""' -l + 2] + k. 
and 6 = 3[ +] are three vectors 

..... ..... 
such that a+ tb is perpendicular 

to 6, then what is t equal to? 

(a) 8 

(c) 4 

(b) 6 

(d) 2 

101. The mean of 20 observations is 15. 
On checking, it was found that two 
observations were wrongly copied 
as 3 and 6. If wrong observations 
are replaced by correct values 8 
and 4, then the correct mean is 

(a) 15 

(b) 15·15 

(c) 15·35 

(d) 16 

102. The arithmetic mean of the squares 
of the first n natural numbers is 

(a} n(n + 1) (2n + 1) 
6 

(b) n(n + 1)(2n + 1) 
2 

(c) (n + 1)(2n + 1) 
6 

(d) (n + 1) (2n + J) 
3 
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95. ~ l- m] 3ffi ] + k ~ * ~ ~ ~ 
7t t, m m~llr-l~t? 
3 

(a) 0 

(b) 2 

(c) -2 

(d) ~ .q ~ q;){ ~ 

96. l- ] 3ft\ l GRht~~ lR ~ ~ 'CPn t? 

(a) l 

"' (b) -) 

(c) ] 

(d) k 

97. ~ A 3ftt B * ~ ~ Sf;lm: 

3t-5]+2k 3ffi t+)-k ~I AB ~ 
~~t? 

(a) 11 

(b) 9 

(c) 7 

(d) 6 

98. ~ l - 2x]-3yk 3ffi l +3x]+2yk 
~-~ * E1&C(ti)oft4 ~I ~ (x, y) CfiT 

~~~t? 

(a) ~ffiq(qt:14 

(b)~ 

(d) 'Pf 

~EBB-M-NBS/47A 

99. P ~ ere llR ~ t, ~ ~ ~ 
p(2l- ]+2k) ~ ~ 3 ~ mctt t? 
(a) 1 

(b) 2 

(c) 3 

(d) 6 

100. ~ c! = 2i + 2] + 3k, b = -l + 2] + k 
~ t = 3i + ] <IR ~ ~ 'SI'"CfiR ~ ~ 

a+tb, c"«R~t m t~~t? 
(a) 8 

(c) 4 

(b) 6 

(d) 2 

- 10 1. 20 ~a;Tuit CfiT lllUi 15 t I ~ -ij 'q1"q1 ft Gl 
~e;!Ul 1fffifi ~ 3 3ft< 6 ~ ~ ~ I ~ 
llffif ~~ en) ~ lfR 8 3ft< 4 ~ ~ 
~~tmw~~t? 

29 

(a) 15 

(b) 15·15 

(c) 15·35 

(d) 16 

102. ~ n ~ ~an * Cflil CfiT ~iiHR 
~(fqlt? 

(a) n(n + 1)(2n + 1) 
6 

(b) 
n(n + 1)(2n + I) 

2 

(c) 
(n + 1)(2n + 1) 

6 

(d) 
.(n + 1){2r:t + 1} 

3 
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103. Consider the following statements : 

1. Both the regression coefficients 
have same sign. 

2. If one of the regression 
coefficients is greater than 
u nity, the other must be less 
than unity. 

Which of the above statements 
is/ are correct? 

(a) 1 only 

(b) 2 only 

{c) Both 1 and 2 

(d) Neither 1 nor 2 

104. Which one of the following measures 
js determined only after the 
construction of cumulative 
frequency distribution? 

(a} Arithmetic mean 

{b) Mode 

(c) .Median 

(d) Geometric mean 

105. Coefficient of correlation is the 
measure of 

(a} central tendency 

(b) dispersion 

(c) both central tendency and 
dispersion 

(d) neither cel)tral tendency nor 
dispersion 
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106. If three events A, B, Care mutually 
exclusive, then which one of the 
following is correct? 

(a) P (A u B u C) = 0 

(b) P (A u B u C) = 1 

(c) P (A 11 B 11 C) = 0 

{d) P (A 11 B 11 C) = 1 

107. What is the variance of the first 11 
natural numbers? 

(a} 10 

(b) 11 

(c) 12 

(d) 13 

108. If A and B are independent events 
1 7 

such that P(A) = -, P(A u B) == -, 
5 10 

then what is P(B) equal to? 

2 
(a) -

7 

(b) 3 
7 

(c) 
3 

8 

(d) 7 
9 
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103. f.lt=~~futct ~ 1R ~ ~ : 

t. ~wn~~~m~~~ 

2. ~'{{In~~~~~.~~ 
3lfUctit, m~~~~m 
lftl 

~ .q ~ ~-m/~ <ii~ ~ V~? 

(a) ~ 1 

(b) ~2 

(c) 1 ~2~ 

106. ~ A, B, C 'ffr.i tffiXR .Jiqq~CI ~ ~. 
m f.lt=~~f(gct .q "R ~-m ~ ~ ~? 

(a) P(A u B u C) = 0 

(b) P(AuBuC) = 1 

(c) P(A f"' 8(1 C)= 0 

(a) 10 

(b) 11 

104. f"q~f{gct it ~ ~ -l=ft 't1;Cfi liTCl'' m (c) 12 

~ G(f(kijf(dl 'Gfll'c.t' ~ ~ t ~ 
~uma ~ t? fdJ 13 

(a) ~41"<1( ~ 

(b)~ 

(c)~ 

(d) ~lf!V{ 

lOS. f;itlf;iklrt( ~ fCt;e<A tfiq t? 

(a} ~~ 

(b) qfta)q-or 

(c) ~ ~ ~ -qfta)q-or ~ 

(d) ";f m ~ ~ 3ffi ~ 'tft 'lfte)'qor 
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108. ~ A 3ffi B ~ ~ ~ ~ ~ 
1 7 ~ -

P(A) = -, P(A u B) = -, a1 P(B} 
5 10 

~Gffiif{ t? 

2 
(a) 7 

(b) 
3 -
7 

(c) 
3 -
8 

(d) 
7 -
9 
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109. In a binomial distribution, the 
occurrence and the non·occurrence 
of an event are equally likely and 
the mean is 6. The number of trials 
required is 

112. Consider the following statements : 

1. If A and B are exhaustive 
events, then their union is the 
sample space. 

2. If A and B are exhaustive 
(a) 15 events, then their intersection 

must be an empty event. 
(b) 12 

(c) 10 

(d) 6 

110. A die is tossed twice. What is the 
probability of getting a sum of 10 ? 

(a) 

(b) 

(c) 

{d) 

1 

18 

1 

6 

1 
12 

5 
12 

111. Three dice arc thrown. What is the 
probability of getting a triplet? 

(a) 1 
6 

(b) 

(c) 

1 

18 

1 

36 

1 
(d) 72 
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Which of the above statements 
is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

113. Consider the following statements : 

1. The algebraic sum of the 
deviations of a set of n values 
from its a rithmetic mean 
is zero . 

2. In the case of frequency 
distribution, mode is the value 
of the variable which 
corresponds to maximum 
frequency. 

Which of the s tatements given 
above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

114. Which one of the following may be 
the parameter of a binomial 
distribution? 

(a) np = 2, npq=4 

3 
(b) n =4, p =-

2 

(c) n = 8, p = 1 

(d) np = 1 0, npq = 8 
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109. "t% trn GfOG1' it "t% ~ Cf;l m ~ 3ffi 
~ it:rr WIR \i\'l ~ ~ t 3ffi 
lfiUf 6 't I 3fta~llifi 'Cf(\~ ~ mt 
~t? 

(a) 15 

(b) 12 

(c) 10 

(d) 6 

110. v;q:i tfim <:) ~ ~ \1ffifl t I ~ 1 0 lfA <fit 
5ll~<tl111 qqr t? 

1 
(a) 18 

(b) 1 
6 

1 
(c) 12 

5 
(d) 12 

111. ~"I@~~ ~I~ lfR ~ SII~Cfi(1f 
~t? 

(a} 1 
6 

1 
(b) 18 

1 
(c) 36 

1 
(d) 72 
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112. f.lqR:Jf@d m 1R fcRR ~ ; 
1. ~AaffiB~~t<i'f 

'3"=fcfiT lfq , ~ m t 1 . 

2. ~ A 3ft\ B ~ ~ ~. m 
~~ futi qr.n ~M ~~ 

~mit~ m-m/~ ~ t/~? 

(a) ~ 1 

fbJ m2 
(c) 1 am 2~ 
fdJ ";{ m 1 3ftt -=~ .tft 2 

113. ~qf~dtid ~ lR f<r.m ~ : 

1. n liR1 "* "t% e~~ <til ~ etlt=a< 
lf1UJ ~ f'Cl·•ktofi <fiT ~ ~ ~ 
tl 

2. Gfl<tGCI<df 'ifO'l-=l ~ ~ if, ~ 
~ ~ <fiT liT1 t ~ 3!Riifidii 

•m""41<dl ~ WTtf t I 

~it~ m-m/~ ~ ~ t/~? 

(a} ~ 1 

(b) ~2 

(c) 13ft\ 2 ~ 

fdJ ";{ m 1 am -=~ ~ 2 

114. ~""'~f&a il ~ ~-m ~~~<fiT 
~m~t? 

(a) np = 2, npq = 4 

3 
(b) n = 4 , p =-

2 

(c) n = 8, p = 1 

(d) np = 10, np q = 8 
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115. What is the number of outcomes 
when a coin is tossed and then a 
die is rolled only in case a head is 
shown on the coin? 

(a) 6 

(b) 7 

(c) 8 

(d) None of the above 

P(A) = 2 , P(B) = !_ 
3 5 

I 
: 116. If and 

P(A u B) - P(A f\ B) = 2 , then what 
5 

is P(A 0 B) equal to? 

(a) 3 
5 

5 
(b) 11 

(c) 1 

3 

(d) None of the above 

117. What is the probability that there 
are 5 Mondays in the month of 
February 2016? 

(a) 0 

(b) 1 
7 

(c) 
2 
7 

(d) None of the above 
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118. Consider the following statements ; 

1. Pie diagrams a re suitable for 
categorical data. 

2. The arc length of a sector of a 
pie diagram is proportional to 
the value of the component 
represented by the sector. 

Which of the statements given 
above is I are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

119. In a relay race, there are six teams 
A, B, C, D, E and F. What is the 
probability that A, B , C finish first, 
second, third respectively? 

(a) 1 
2 

1 
(b) 12 

(c) 
1 

60 

1 
(d) 120 

120. The variance of 20 observations is 5. 
If each observation is multiplied 
by 2, then what is the new variance 
of the resulting observations? 

(a) 5 

(b) 10 

(c) 20 

(d) 40 
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115. ~ m "fmm ~ ~ 3fu (f4f ~ Rm 
~ ~ 31A ~ ~ -q "Q;Cfi 'tffin ~~Cf>l~l 
~. m qft:on"' <fit~ CFff Wft? 

(a) 6 

(b) 7 

(c) 8 

(dJ ~1t-am~ 

116. ~ P(A) = 
2

, 
3 

2 P{B) =-
5 

P(A uB) - P(A n B ) = 3_ 
5 

P(A n B) ~ il'lTil'"( t? 

(a) 3 -
5 

(b) 
5 -
11 

(c) 
1 -
3 

(d) ~il~m~ 

t 

117. 2o16 * ~ tm 1t s ~--wm m ciit 
Sllf?ict>di ~ ~? 

(a) 0 

(b) 1 
7 

(c) 2 
7 
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118. f4qfftf{gd ~ lR ~ ~ : 

1. ~~~~~anW~ 
~I 

2. ~~·~~·-"&U6~~ 
~ '3l1 ~-~ am f.l~ftle1 
~ ~ ~ ~ 311:!"11Ri'h t l 

~ ~ .q -a -m-m/it mft t/t? 

(a) ~ 1 

fbJ m2 
(c) 1 ~2~ 

fdJ -;r m 1 3fn ';( tft 2 

119. ~ AA ~ .q A, B, c, D, E 3ft\ F, ~: 
'itxf ~I A, B, C t Sfitm: ~. ~. 
~~<fit Sllf4'fl<11 ~ t? 

(a) 1 
2 

(b) 1 
12 

1 
(c) 60 

1 
(d) 120 

120. 20 ~~ Cfit ~ 5 t I ~ ~ ~e.:rol 'fl1 
2 it ~ <til, m qftot!fld ~~ Cfit ~ 
~~t? 

(a) 5 

(b) 10 

(c) 20 

(d) 40 

[ P. T. 0 . 
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SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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SPACE FOR ROUGH WORK 
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it :Gil-~. : B-OEBB-M-NBS 

242025 lffratUT g;ffd eti I A 
arfUtft 

~:300 

3l3~~ 
1. ~ ~ ~ * ~ ~. anq VQ" 'lt\~ gfHtifit c#iT q~nlt¥1 ~ 'ffl'{ ~ ft; ~ ~ ftr.:n lJ'Ql, ~ 

m lllT !i3tT ~ ~ ~ ~ ";{ m1 ~ ~ t, m ~ ~ 'lt\$'0T ~FRI<flt'R ~ ~~ 
2. ~ ~ ~ ft; OMR ~-tlni it,~ lUR lR, 'ffiwt >1tiR am ~atUT gffltq:;t ~A, B, C ll1 

D 'ifi\, ~ lt ~ fir.n ~ ~ ll1 ~ti•tfa ~ ~ 3ffi ~~11<1{ em~ ~&iHtt(l aaftGctH ~ t1 ~ 
1ft 'Slim ~ ~ /~ti•t fi\ c#iT @m!r lt "3m -'t~Wfi f.ma 'ffl'{ ~ ~I 

~--------------------------------------~ 3. ~ lf6~ ~ ~ m-q it ~ ll1l: ~ it ~ 31tRl I 
~:JSfl'ii<6 ~ t I 'Cftt~ijUJ ~ ~ am !itJ 1 ~I L--------------------------~ 

4. ~ll'6$"01~it 120~ (m) ~ll1l:~l ~~~ 3fR~~ lflJq'TtJ ~~~ 
~ ~ (~) ~ll1l: ~I~ -a 1%~~ WI -a,~~ 3W(·~ 1f( ~~~~I~~ 
~~~~-a~~ mft ~. m '3tl ~ cn1 ~ ~ ~ ~ ~ ~~ ~ ~ ~ ~ 
~~it~~tl 

s. ~~"81ft~~ -a~~~-~~ tt ~ern ~~3\R-~ it~~ tm1 ~~ 
6. ~ rnrm t 3fcn ~~I 
7. ~ ~ f(f; 3lttlll'6~ ~ t ~ ~ ~ ~ ~-~ 1f( ~~~<it,~~ 

"SI'l1TC!l·-q;r ~ m-q ~ ~ ~ ~ ~ ~ ~-11;f<f; if ~ ~I 
s. ~ ~ ~ ~ tfil ~-~ it ~ t ~ <f'ltllf6m ~ wm:t 1f( ~ ~-ll1f<6 3t'ft~ <til ~ i 1 

~am m~ q'(t~ ~ F\ ~ ~ ~ tl 
9. ~ q;rq t ~ ~ lf6~ ~ t ~it~ ~I 
to.~m~~~ : 

q+iJf.'8 'SI'T-f-tnit it JwftGt1H IDU ~ ~ m-nt m *~~~~I 
(i) ~ m t ~ ~ aq;@lq; "3m ~I Jwfl<:<m ~ ~ m ~ ~ fut ll1l: ~ lfffiY ~ ~ ~ "5rfl ~ 
~ ~ lJ1l: ~ CfiT ~-~~~~it ttiRT ~I 

(ii) ~ q;)f auftc:<m ~-a~ '3tR ~ t. m ~ 1'J("I'(f "3m ll11l ~. d fut ll1l: ~it l) ~ ~ mft 
mot t, ~ \ft '3t1 m t ~ 34~f11.iR tt ~~~~~~I 

(iii)~ Juftc:•:m m ~ m ~ ~ ~ ~ t, ~ aufi<:<4R rn ~ ~ ~ ~ t, m m m ~ ~ 
~~~~~~ 

Note : English version of the instructions is printed on the front cover of this Booklet. 
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